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10,481,266
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22,723,817
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733,772
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375,666

754,752

220,980

= HnH

468,084
236,409

53,630
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KIS ALS MHI A S XA

= H W

335,584
236,409
53,630
45,545
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o
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3,000
3,000

3,000
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=8
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o
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o
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2,000,000&
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3,000
2,000
2,000
1,000
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3,000

202 Oddl

W

2,000
2,000

2,000

01 =LHAOYI

mXI AR Al A

SRAY HREX

2,000,000&

H

2,000

2,000
2,000

2,000

= N W

330,584
231,409
53,630
45,545

392,507

A61,923

-

05 It =S

wX

[

AABIMEIA FXALY

330,584,000

= N W

330,584

330,584
231,409
53,630
45,545

392,507

A61,923

57,000

51,000

6,000

1,000

1,000

1,000,000&

1,000
1,000

1,000
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[
2

20
B
2

203 Y=Y 36,000 36,000 0
03 AIMZZREZY| 36,000 36,000 0
MASAS SRSE Al =X 28,000,0002 28,000
CRENIEE R 6,000,002 6,000
W2AZE ZOIMUIAAY =7 2,000,00024 2,000
301 YR AS 20,000 15,000 5,000
01 ASIBEE 463 20,000 15,000 5,000
EABISTAE L O22H 28 P
20,000,000 20,000
i E ULV K 4,000 4,000 0
201 Y2 Hy] 1,000 1,000 0
01 ALRZrelHl 1,000 1,000 0
ORI 1,000,000 1,000
202 0OfH| 3,000 3,000 0
01 =L odHl 3,000 3,000 0
WEMKPEY D] L Y3 BA
3,000,00024 3,000
DI H S A 71,500 64,000 7,500
307 212H0IH 71,500 64,000 7,500
02 ABABE 14,000 16,000 A2,000
E(ADSE. HA. DA LHLHNKRLE 2
k] 11,000, 0002 11,000
mOlMCHHEE 2% XY 3,000,00024 3,000
03 AFBICHHIZ XS 57,500 48,000 9,500
CEERETPYIPE] 27,000,000 27,000
WOIMCH BE AlIHl XI® 22,500,002 22,500
ME4E TH! HRGSHAEY X2
8,000,0002 8,000
ST MEI AT 265,668 243,245 22,443
= 41,589
= 26,478
Al 197,621
NI 182,510 179,200 3,310
= 10,600
Al 171,910
201 Y2 ay| 2,310 0 2,310
01 AtRZ2lt| 2,310 0 2,310
CE=EA= 70,0002 #1124 +33] 2,310
203 R =AYl 6,000 6,000 0
03 AIMZZ RS 6,000 6,000 0
WAZE UAZA AIY =X 6,000,00024 6,000
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Sl SXAMHIAKR (25 &2
_ _ pSNE e
SA-BH.C(BH) - HRAY - B O AF o8 Gil it o Hnz2
301 YBrEAZ 1,000 3,000 A2,000
10 BAAE 24 S 1,000 3,000 A2,000
WARSAK DS A MY B4
1,000,002 1,000
307 QI2H0IH 168,200 170,200 A2,000
= 0,600
Al 157,600
02 PIANBAEE 1,200 1,200 0
MR SAX HaDS 1,200,000 1,200
= 600
Al 600
05 QI2t9lErz 167,000 169,000 A2,000
WX S A B A 20,000, 0002 20,000
= 0,000
Al 10,000
WX SAHE 2 147,000,0002 147,000
401 Al&H| L= 0| 5,000 0 5,000
01 Al&t| 5,000 0 5,000
WXRZAME ®IISLBAE 5,000,008 5,000
K= A BOUOIE X8 A 34,016 34,045 A29
= 17,008
= 8,504
Al 8,504
307 QI2H0|H 34,016 34,045 A29
= 17,008
= 8,504
Al 8,504
02 PIANBAEE 34,016 34,045 A29
WX = A 2CIHIO0IE 34,016, 0002 34,016
= 17,008
= 8,504
Al 8,504
RASA BHR XA 49,162 30,000 19, 162
=2 24,581
= 7,374
Al 17,207
307 QI2H0IH 49,162 30,000 19, 162
= 24,581
= 7,374
Al 17,207
02 SIAYMBE 49,162 30,000 19, 162
WUESA 2ER A 49, 162, 0002 49,162
= 24,581
= 7,374
Al 17,207
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1,821,003

199,059
510,757
119,000
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754,866

2,326,158
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PO K| &2

0

= HN W

300,135
187,863
44,956
67,316

144,927
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0y

ox
]
0x
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>
it}

= H

19,000

2,700
16,300

19,000

RIZHOI A

= H

19,000

2,700
16,300

19,000

9,000,000&

10,000, 000&

=

19,000

9,000

2,700
6,300
10,000

19,000

= H

7,000

2,000
5,000

7,000

012t &

[y

= H

7,000

2,000
5,000

7,000

7,000,000&

= M

7,000

7,000

2,000
5,000

7,000

5,760

13,400
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e
£
H0

=5

1,960

2,000

=

0
0 0
02
1
0
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o
=5
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1,960
1,960

2,000

e
T
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0x N

=5

N K
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~
H
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0
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b

9
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=
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EJ
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ozt
X

24 1,500,000

&4 800,000&
1,500,000&

3,800
1,500

800
1,500
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o
=}

i

HO | ] m) (W (2

=}
]
o
> | >
R

= Hn W

268,375
187,863
40,256
40,256

103,127
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HH: o8 =X
CHPl: Oi & Al Z 01X & (=EREE))
_ - HEG -
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 Sl ko HRs2
307 RI2HOIH 268,375 103, 127 165,248
= 187,863
= 40,256
Al 40,256
10 AtaIZ2XE X 268,375 103, 127 165,248
AR S2AHEIA 85,227, 0002 185,227
= 129,659
& 27,784
Al 27,784
w0t 5 sSsAHHIA 40,520,000& 40,520
= 28,364
= 6,078
Al 6,078
mOlOIE20l 248 & 42,628,000& 42,628
= 29,840
& 6,394
Al 6,394
Hesgieg 275,200 1,128,362 A 853,162
= 119,000
= 22,160
Al 134,040
HOwA2ELHLHME 22 ALY 68,000 86,250 A 18,250
201 LBt 3| 60,000 78,250 A 18,250
01 AR eIl 5,000 3,050 1,950
mBt~=SH| 5,000,000& 5,000
03 A2 55,000 75,200 220,200
WO 2% 55,000, 000& 55,000
202 (4 H| 2,000 2,000 0
01 =Wl 2,000 2,000 0
WOI & (CH2 SIS ) =X ASEF 2,000,008 2,000
307 S12t01& 6,000 6,000 0
02 ItAANSE X 6,000 6,000 0
mEt=2ws 23 X3 6,000,000& 6,000
GBI RUSH0IH I LM SHHIX B (2 X) 170,000 54,912 15,088
= 119,000
Al 51,000
307 212t01& 170,000 154,912 15,088
= 119,000
Al 51,000
10 AlRISXEX 170,000 154,912 15,088
WOASE U PH OIHIILME 2|
170,000, 0002 170,000
= 119,000
Al 51,000
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SH M HA(FA) - HRAE -

0x
I
=
[
12
2
R
12
o
£l
0l%
IS
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HEJlsFHSUsAE 7,200 7,200 0
2,160
5,040

=z H

307 2120l & 7,200 7,200 0

2,160
5,040

= H

22X 7,200 7,200 0
sH=sU=E N 7,200,000& 7,200

2,160
5,040

= H

ANEod diiel &S ?Ie XEHU=F 30,000 30,000 0
20,000
10,000

= M

307 2120l & 30,000 30,000 0

20,000
10,000

= H

10 At2ISXEx 30,000 30,000 0
[e]

000& 30,000
20,000
10,000

=

MASSE2IEXE 531,676 536,585 A4,909
= 11,196
) 159,616
71,059
Al 289,805

H

SHRERIMENEHY= . WSHIX& 199,520 186,885 12,635
159,616
11,971
27,933

= mn X

301 Let2a= 199,520 186,885 12,635
159,616

11,971
27,933

>y

SRS 199,520 186,885 12,635
WERE HHYS - DY X

199,520,0002 199,520

159,616

1,971

27,933

= mn X

MNASSRLIERN(EX) 166,000 171,900 25,900

49,800
116,200

= H

301 LEtEas 166,000 171,900 25,900

49,800
116,200

=

01 A2 H+06= 166,000 171,900 /5,900
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ASEERIERY

N Z3 . CA(ZAH) - MPAY - BES Aol a4 T
(=] = T ° - = (L] 0:”/&,%
mEREIIE MEEs 30,000, 000& 30,000
& 9,000
Al 21,000
mER2IIE MNP =t 2,500,000& 2,500
& 750
Al 1,750
W&t 2IHS ]l 120,000,000& 120,000
& 36,000
Al 84,000
mEtE2IHS cltl 1,500,000& 1,500
& 450
Al 1,050
st 2IHS = ANIE 12,000,000& 12,000
= 3,600
Al 8,400
Has 225 124,000 147,400
301 Et2A = 124,000 139,400
01 AISIEE " =03 124,000 139,000
WSHE2IIE XE 2w bl X&
40,000, 000& 40,000
WSHR2IIE NE S. 0w AdM w= 2|
A& 18,000, 000& 18,000
mER2IIE IH 5% 66,000,000 66,000
SRR N=SY = 2,000 2,000
= 600
Al 1,400
307 212t01H 2,000 2,000
= 600
Al 1,400
04 SIS ALE 2,000 2,000
mHAZIE 2 2,000,000& 2,000
& 600
Al 1,400
SE20E XX 26,160 28,400
= 7,848
Al 18,312
301 YAz 26,160 28,400
& 7,848
Al 18,312
01 At2IEEA 26,160 28,400
m=4t012 QY &
6,000,000& 6,000
& 1,800
Al 4,200
miE2JI=E ssc<0 It 960,000 960
& 288
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Al 672
w022 XYgEayl A 1,200,0002 1,200
360
840
WOIE2 N AME9XY XY 18,000,000 18,000
400
12,600

=z H

= M
o

EAUERER NS XA 13,996 0 13,996
11,196

840
1,960

= HnH

301 et a= 13,996 0 13,996
11,196

840
1,960

= H W

A6 13,996 0 13,996
mEAE 22 TEXS 13,996, 000& 13,996
11,196

840
1,960

= H W

GRS, 154,848 139,784 15,064
43,767
31,908
Al 79,173

S

H

=" X L ok X& 75,265 0 75,265
32,703
15,909
26,653

= mn X

301 Let2a= 1,488 0 1,488
Il 744
Al 744

2a=z 1,488 0 1,488
E SAA W= 1,488,000 1,488

p) 744
Al 744

307 2120l & 63,777 0 63,777
31,959
15,909
15,909

= Y

22X 63,777 0 63,777
dagas 29 61,919,000 61,919
30,959
15,480
15,480
1,858,000& 1,858
1,000
429
429

(w]
S
0
J
Jo
=]
%
=
10
U
=5
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M =olME 2 0t
= o a=T
S RIS (crel e
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
401 AIEHIZ 2O 10,000 0 10,000
01 Al&HI 10,000 0 10,000
WA= TioHAt 220X &X
10,000, 000& 10,000
4= YA 2 mloikt X 39,663 0 39,663
J| 4,064
& 1,999
Al 33,600
307 QI2t01A 39,663 0 39,663
| 4,064
& 1,999
Al 33,600
10 ABISTEZR 39,663 0 39,663
mOlS. I8ESXEAN 29 A
7,200,000 7,200
J| 3,600
= 1,800
Al 1,800
WA= TOioiA 2l=dl K& 663,000 663
ol 464
= 199
WOt YEMNEMEBIAAIY 31,800,000 31,800
SO0 =828 X2 9,120 41,120 232,000
& 2,100
Al 7,020
301 L2 A3 2,120 2,120 0
01 M2IE2EE X6z 600 600 0
W= =0 K& 600, 000& 600
10 EALAHIZEAS 1,520 1,520 0
mOIE . 8424 2K 39 &4 800, 000& 800
EOIE 82 2L D (5Y) 720,000 720
307 212t01& 7,000 39,000 A 32,000
= 2,100
Al 4,900
10 Al2ISXIEX 7,000 9,000 A2,000
m&0H0H, =828 XA 7,000,000 7,000
& 2,100
Al 4,900
NE =S LS =HIOIIE S LML LA 10,000 26,858 AN 16,858
| 7,000
& 1,500
Al 1,500
307 QI2tol™ 10,000 26,858 N 16,858
| 7,000
= 1,500
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H: ola =T
ol HERABH (Erol: &2
. _ . e =
SH-EH . S2(30) - MRAY - BES O &F 24 Sl ko HRE2
Al 1,500
10 AtaI=XIEX 10,000 15,000 25,000
@Ot AN REXNSEZ ) 10,000,000& 10,000
Il 7,000
= 1,500
Al 1,500
WOHE, 42 DK o2 250 0
HE=XAE SAL =5 20,800 10,400 10,400
& 10,400
Al 10,400
307 12t0l & 20,800 10,400 10,400
& 10,400
A 10,400
B EEES 20,800 10,400 0,400
O E=Z2XNAIE SAL =& 20,800,000& 20,800
= 10,400
Al 10,400
23 =EX& 489,401 321,620 167,781
Il 290,445
= 51,152
Al 147,804
Oest=ESx 57,480 37,000 20,480
= 4,500
Al 52,980
101 eIt 37,000 37,000 0
04 JI2tHIZ2E2NEE S 37,000 37,000 0
WZE0IRI014 YA (B DBAT20)
7,000, 000& 37,000
201 Let2d| 1,980 0 1,980
01 AtE22|Hl 1,980 0 1,980
m =Sl 1,000,000& 1,000
m2ISL(CHE3IIEo2(23]) 980,000 980
301 EtE2A = 3,500 0 3,500
01 MBI2ZH253 2,000 0 2,000
WZE0/RI0IH SABE KA 2,000,008 2,000
10 EALAHIE A= 1,500 0 1,500
WC23II=HAL Y s &4 1,500,000& 1,500
307 QI2+0IA 15,000 0 15,000
= 4,500
Al 10,500
10 AtaI=2 X2 X 15,000 0 15,000
mCt2etE =XXJ 10,000, 000& 10,000
= 3,000
Al 7,000
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22
J2
=2
Rl
12
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5,000, 000& 5,000

1,500
3,500

= H

C2eEXNJMEH2E XA 85,000 74,000 11,000
56,000
8,000
21,000

=N Y

307 GI12+0l & 85,000 74,000 11,000
56,000
8,000
21,000

= mn X

mCEIIEXNEEAH IERFH

2,000,000&

A&
3,000, 000&

80,000, 000&

= Y

85,000

2,000

3,000

80,000
56,000

8,000
16,000

74,000

11,000

=N Y

289,250
202,475
28,925
57,850

185,010

104,240

307 QI2told

= mn X

289,250
202,475
28,925
57,850

185,010

104,240

289,250,000

= mn X

289,250
289,250

202,475
28,925
57,850

185,010

104,240

= mn X

29,420
20,594
2,942
5,884

21,410

8,010

307 2120l &

>y

29,420
20,594
2,942
5,884

21,410

8,010

10 At2ISXEX

mCE30E NHE AoHgE X2

29,420,000&

= mn X

29,420

29,420
20,594
2,942
5,884

21,410

8,010




SN
X XH .
S Tt

ok

e

[
2

=2
e
J2H
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16,251
11,376
1,625
3,250

307 GI12t0ld

= mn X

16,251
11,376
1,625
3,250

16,251

16,251,000

= mn X

16,251
16,251

11,376
1,625
3,250

16,251

]
it
Job
i
0

= H

4,200

1,260
2,940

4,200

= H

4,200

1,260
2,940

4,200

4,200,000&

= H

4,200
4,200

1,260
2,940

4,200

= H

7,800

3,900
3,900

7,800

307 QI12t0ld

= H

7,800

3,900
3,900

7,800

7,800,000&

=z H

7,800

7,800

3,900
3,900

7,800

=N X

69,743
16,929
16,086
36,728

54,880

14,863

= mn X

24,183
16,929
2,418
4,836

13,200

10,983

307 2120l &

>y

24,183
16,929
2,418
4,836

13,200

10,983
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24,183,0002

=X

24,183

24,183
16,929
2,418
4,836

13,200

= M

34,560

10,368
24,192

28,680

5,880

=M

34,560

10,368
24,192

28,680

5,880

34,560,000&

=M

34,560
34,560

10,368
24,192

28,680

5,880

= M

11,000

3,300
7,700

13,000

/2,000

307

= M

11,000

3,300
7,700

13,000

A2,000

d U EsXN3dE QS

11,000,000&

= M

11,000

11,000

3,300
7,700

13,000

A2,000

> M H

4,727,960
767,109
698,035

1,233,966

2,028,850

2,309,777

2,418,183

KOt AI & Of

O
fol

> A H

4,727,960
767,109
698,035

1,233,966

2,028,850

2,309,777

2,418,183

= H W

46,440
32,508
6,966
6,966

45,000

= H

46,440
32,508
6,966
6,966

45,000

2 A& 46,440,000

46,440
46,440

45,000
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32,508
6,966
6,966

= NN

PAOIsLs=E XS 57,600 41,501 16,099
40,320
17,280

= W

301 et ez 57,600 41,501 16,099

= 40,320
Al 17,280

01 A2 H 6= 57,600 41,501 16,099
20ts =4 A2 57,600,000& 57,600

40,320
17,280

H

=

NA0otsdH2E XN 305,300 230,400 74,900
150,150

60,060
95,090

= NN

307 2120l & 305,300 230,400 74,900
150,150
60,060
95,090

= HnH

04 QIZtSHALE X 5,000 0 5,000
mAKAl XIHOtsSHE HAgHZ 5,000,000 5,000
10 MaISXIEX 300,300 230,400 69,900
mXGotsde 23 XN 300,300,000 300,300

150,150
60,060
90,090

= N W

A IEAEOS HelXz NE 1,267 1,200 67
887
190
190

= Hn W

301 LEtE2AS 1,267 1,200 67
887
190
190

= HnH

o= 1,267 1,200 67
é‘l-

<
Ol
0>
o
ﬂ
1l
>
{0

1,267,000& 1,267
887
190
190

= Hn N

otss4 1,996,760 567,740 1,429,020
146,800
1,031,080
818,880

= H A

201 et 1,960 2,240 A 280
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SN FOMEX D
M ol=s=2X

=

2l THIIEAIEO0tSES (9 E2
S - D . O NEAY . B2 Al OH HEE Hl =2+
01 AtR2t2ldl 1,960 2,240 A 280
m 2> 70,0003 7 x43] 1,960
301 LEEAZ ,994,800 565,500 1,429,300
= 146,800
= 1,031,080
Al 816,920
01 M2I2EEE =6z 1,994,800 565,500 1,429,300
mOISZSA(HS, YsE) 1,070,800,000& 1,070,800
= 146,800
= 107,080
Al 816,920
mOISZ2A(8IIE5 E.8352) 924,000,000 924,000
& 924,000
I8 ES0ts24| 12,000 13,200 A 1,200
& 4,800
Al 7,200
301 pHP A 12,000 13,200 A1,200
= 4,800
Al 7,200
01 AlRI2EEE 2563 12,000 13,200 A1,200
EOIEES(AEAH, JIERE) Ots2AH|
12,000,000& 12,000
& 4,800
Al 7,200
NEES0tsH =l 7,000 7,700 AT00
= 2,100
Al 4,900
301 LetEA 3 7,000 7,700 AT00
& 2,100
Al 4,900
01 MIIEEE =63 7,000 7,700 AT00
EOIEES(AEAH, JIE/AE) 0lS A=l
7,000,000& 7,000
= 2,100
Al 4,900
QEeUIROIS S AN 16,800 12,000 4,800
= 6,720
Al 10,080
301 LEtEAZ 16,800 12,000 4,800
& 6,720
Al 10,080
01 ARIEEE 263 16,800 12,000 4,800
mSI=&4 Bl20ts EAMHl XI& 16,800,000 16,800
= 6,720
Al 10,080
LESOIS 12 AZ LI ALY 2,400 1,800 600




SN FEOIMEX D
Dol OlS =X

Sl THIUALOIERS ECR-ED
SN FHH S (3H) - HREAY - BES Ofl Ak 04 %gi Hms2
& 960
Al 1,440
307 212t01& 2,400 1,800 600
& 960
Al 1,440
10 AlRISXEX 2,400 1,800 600
mRESOts 12 1Ak AL 2,400,000 2,400
& 960
Al 1,440
RESO=s |2 2,092 0 2,092
& 2,092
307 212t01& 2,092 0 2,092
& 2,092
10 At3I=2XE X 2,092 0 2,092
WRES0IE A2 2,092,0002 2,092
= 2,092
BDOtSYS RS A SR 4,800 27,200 22,400
= 1,920
Al 2,880
301 LEtE A= 4,800 27,200 A22,400
& 1,920
Al 2,880
01 ARIEEE+56l= 4,800 27,200 A22,400
WYIR0IE WEE stASAR NY
4,800,0002! 4,800
= 1,920
Al 2,880
CYHAEBEME 29 225,000 0 225,000
= 225,000
101 Q1244 41,000 0 41,000
3 41,000
04 JIZH2ZESS 41,000 0 41,000
W AEFE ALY (4THOI R 28 T 8
41,000, 000& 41,000
= 41,000
201 Lt 43,590 0 43,590
2 43,590
01 AtE222|Hl 39,590 0 39,590
CEEIRSE=Y] 39,590, 0002 39,590
= 39,590
02 =234l 2,000 0 2,000
WZ2e2 2 AA 2,000,00024 2,000
3 2,000
03 A2 ZHI 2,000 0 2,000
ECAEEANY #A 2 2,000,00024 2,000




SN FEOIMEX D
Dol OlS =X

Sl THIUALOIERS (e a2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2

= 2,000

207 S FIHEH| 15,000 0 15,000
= 15,000

02 & AHIHEH] 15,000 0 15,000
mESABANAY 2AF 15,000,000& 15,000
= 15,000

301 LEtEAZ 35,410 0 35,410
= 35,410

01 AIEIB&E 4562 20,410 0 20,410
mESEAEE SX.EFAIH L] 20,410,000 20,410
= 20,410

10 HAIAHIEAZ 15,000 0 15,000
mESAEIEAY EAX B4 15,000,000 15,000
= 15,000

307 QI2to| A 40,000 0 40,000
= 40,000

01 2L P =H| 25,000 0 25,000
MESAERE SEYE 22| 25,000,000 25,000
= 25,000

10 AHSISXIEZ 15,000 0 15,000
mESEAEE SXAIEH K& 15,000,000 15,000
= 15,000

401 AlEHIZL LI 20,000 0 20,000
= 20,000

01 Al&H| 20,000 0 20,000
mAIRA 2|22 E 20,000,000& 20,000
= 20,000

405 KHAHFE S| 30,000 0 30,000
= 30,000

01 AL =EF SHI 30,000 0 30,000

mEEH, EAJ|, Zgly & 7

30,000,000& 30,000
= 30,000

E A0S AHEEEHZ XA 24,000 12,000 12,000
= 1,700
== 2,400
Al 19,900

301 EtEAZ 24,000 12,000 12,000
= 1,700
= 2,400
Al 19,900

01 MIEEEHS 24,000 12,000 12,000
EA0ts NEEHEEZ X 24,000,000& 24,000
= 1,700
= 2,400

|
3
|




SN
X XH .
S Tt

ok

ML AIZ OIS E

_ _ _ N E
SNBSS - HRAY - BHES Aboy e =
[ Al 19,900
ots?I& sl 5,100 4,400 700
& 1,020
Al 4,080
301 EtEA = 5,100 4,400 700
& 1,020
Al 4,080
12 JIEtE24 3 5,100 4,400 700
mOt= <& 5,100,000& 5,100
= 1,020
Al 4,080
Ots= Xl W ARl 24H 74,160 74,160 0
= 51,912
& 11,124
Al 11,124
307 212t01& 74,160 74,160 0
= 51,912
& 11,124
Al 11,124
10 AtSIZ2XIE 74,160 74,160 0
LIVZ===PN 74,160,000& 74,160
= 51,912
& 11,124
Al 11,124
NHEAES X=X 69,600 58,800 10,800
= 47,360
Al 22,240
301 LEtE A= 69,600 58,800 10,800
= 47,360
Al 22,240
01 AMt2l2EA 69,600 58,800 10,800
mOIE 2 &
100,000& «58H « 128 69,600
= 47,360
Al 22,240
Ot ALK& 17,300 18,500 A 1,200
201 LBt A 1,000 300 700
01 AtE22|Hl 1,000 300 700
mBt~=ZH| 1,000,000& 1,000
301 LetE A= 7,300 8,200 A 900
10 At HIEA 3 7,300 7,300 0
mOlsS?E Ws Y A It 24
6,000,000& 6,000
mo{elole = << 1,300,000& 1,300
307 212t01& 9,000 10,000 A 1,000
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SN FEOIMEX D
Dol OlS =X

SR ML AEOISES (el &)
i, _ . dEE =
SN CR(EH) - NRAY - BES 01l &k o e BlnE2
04 QIZHHALE X 9,000 10,000 A 1,000
mOoel0l s F2J/Ha ¥ 2HHSLES
7,000,000& 7,000
m&EEotsel oteel & 2,000,000& 2,000
Ots=EXIAIE2ZH] 1,181,000 1,080,500 100,500
= 495,175
Al 685,825
201 Let2IH| 500 500 0
03 A2 EH| 500 0 500
mOtsS=XAIE SAL Ws ZAtE 500,000 500
301 EtEA = 500 0 500
10 HAAHIZ &3 500 0 500
mOIS2XNAIE SAAL BE AL B4
500,000 500
307 212t01& 1,180,000 1,080,000 100,000
= 495,175
Al 684,825
10 At3I=2 X2 X 1,180,000 1,070,000 110,000
mOls=EXAIE 2 1,180,000,000& 1,180,000
= 495,175
Al 684,825
OFs=XAE JIs2H 520,000 0 520,000
= 260,000
L= 39,000
Al 221,000
402 SItXHE01H 520,000 0 520,000
= 260,000
= 39,000
Al 221,000
01 BIZFGEEX 520,000 0 520,000
mOIS=XAIL JIsE 520,000,000& 520,000
= 260,000
= 39,000
Al 221,000
A2EAEIE XA 8,700 8,700 0
= 7,000
Al 1,700
301 Lpt8aag 8,700 8,700 0
&2 7,000
Al 1,700
01 MBIEEH=0dl= 8,700 8,700 0
mAEAEHIE X3 8,700,000& 8,700
2 7,000
Al 1,700
Z00ls LASREXS 9,046 3,906 5,140




SN
X XH .
S Tt

ok

MHHALAIZ0tSES

SA . MM .G (B HIE A HAM2 HEE H D=2t
= 6,332
Al 2,714
301 L2 AZ 9,046 3,906 5,140
= 6,332
Al 2,714
01 M2I2EE X6z 9,046 3,906 5,140
WZEOi0ls &2 2Xx3 9,046,000 9,046
= 6,332
Al 2,714
Oelol=0lAld 22| 10,000 30,000 A 20,000
401 AIEHIZ 20 10,000 30,000 A 20,000
01 Al&H| 10,000 30,000 A 20,000
WH0l=0IH A4 10,000,000& 10,000
OIEZXAE EANT +& 93,600 52,000 41,600
= 46,800
Al 46,800
307 2I2t0l™ 93,600 52,000 41,600
& 46,800
Al 46,800
10 AlRISXEX 93,600 52,000 41,600
WOtS=XAIE SAML =2 93,600,000& 93,600
= 46,800
Al 46,800
Ots=EXAE =81 2 13,795 17,070 A3,275
& 4,634
Al 9,161
307 ©12+0| & 13,795 17,070 A3,275
= 4,634
Al 9,161
10 AlRISXNEZR 13,795 17,070 A3,275
WAl & MER FOHR 11,315,000& 11,315
& 3,394
Al 7,921
WAl S MEX FOHE (EAHR A
2 2 &l 2,480,000 2,480
& 1,240
Al 1,240
NSGotsHE SALA = 18,200 0 18,200
& 9,100
Al 9,100
307 212t0l™ 18,200 0 18,200
& 9,100
Al 9,100
10 AlRISXEX 18,200 0 18,200
m X0t S HH 18,200,000& 18,200
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SN FEOIMEX D
Dol OlS =X

&2 ML AE0IsSES (ctel: &
}\_I X XH C|—O|(;| j;”) }\.“bl}\l,o-l A2 AFOH I|_‘|LI;=|_|‘:_ =2}
& 9,100
Al 9,100
20ts 2SS H=H X 6,000 2,000 4,000
= 3,000
Al 3,000
301 EtBA = 6,000 2,000 4,000
& 3,000
Al 3,000
01 AISIEEE =63 6,000 2,000 4,000
mEX0ts NH&AS FH=SH XN 6,000,000& 6,000
& 3,000
Al 3,000
& ENN 674,428 537,130 137,298
= 71,574
& 24,000
Il 55,840
& 57,877
Al 465,137
dad =4 674,428 537,130 137,298
= 71,574
= 24,000
Il 55,840
& 57,877
Al 465,137
AU ISRLA2ANE 48,000 48,000 0
& 24,000
Al 24,000
307 gI12told 48,000 48,000 0
= 24,000
Al 24,000
10 AtaI=2 X2 X 48,000 48,000 0
mEALE ZIRY 2 X2 48,000,000& 48,000
= 24,000
Al 24,000
HAEHAKA 56,000 60,200 24,200
201 LBt 3AH| 3,000 7,200 24,200
01 AtE222|Hl 3,000 7,200 A4,200
w2 Bt=FH| 3,000,000& 3,000
307 212t01& 53,000 53,000 0
04 QIHHAIE X 53,000 53,000 0
watd HAaE IHNWUFAS 10,000, 000& 10,000
mEAE 2SS A 40,000,000 40,000
m&EHo E At 3,000,000 3,000
HLESEXNJUHASXNAE2S 14,500 16,000 A 1,500
& 2,400
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S
XN ZH: =
S Tt

(=)
ool

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

Al 12,100

e
o
A0
02
=

201 3,000 3,000 0
600

2,400

=z H

01

=
==

1,000 3,000 A2,000
1,000,000& 1,000

200
800

2,000 0 2,000
2,000,000& 2,000

400
1,600

(a8
-

e 4o
[
o

(m]

4
00
=5

=

03

(m] O
o =
B Ho
M 09
> &=
oo
>
o
om
02
>
Ho
08

= H

202 Oddl 5,000 5,000 0

1,000
4,000

=

01 =LHOYI 5,000 5,000 0
maEXdE 2 5,000,000& 5,000

1,000
4,000

=

301 LeEt2H = 4,000 8,000 4,000

800
3,200

=z H

2a= 4,000 8,000 24,000
8 A AHI24 4,000,000& 4,000

800
3,200

=

405 XtobE SHI 2,500 0 2,500

01 ML =ESF=H 2,500 0 2,500

maEXEE 8 7 2,500,000& 2,500
e g

27,000 26,500 500

Jl 13,000
Al 14,000

201 LEH2HH| 9,500 10,000 2500

p) 6,000
Al 3,500

a]] 4,500 10,000 A5,500
Bt~ ZH| 4,500,000& 4,500
p) 2,300
Al 2,200
24 2,000 0 2,000
22 % HAl 1,000,000& 1,000

p) 600
Al 400
LIPNR=FSg=[ESNY:] 1,000,000& 1,000
) 600
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SN FE0IMEX D
M gAE=X
ol BaAd S4 chol: & 2
. _ o HEG =
SN B SRA(SIH) - MBAY - BAS Abod i =%
A 35, 787
10 AEI= X2 143,148 175,650 £.32,502
CEPSEE NV ENE 143,148,000 143,148
= 71,574
= 35,787
Al 35,787
HodapozIue 22,000 22,000 0
| 11,000
Al 11,000
307 Q1201 22,000 22,000 0
| 11,000
Al 1,000
NS EES 22,000 22,000 0
MITHAUSBAL T2 29
22,000,0002 22,000
| 11,000
Al 1,000
=PNEELEEL 4,000 4,000 0
| 2,000
Al 2,000
307 Q201 4,000 4,000 0
| 2,000
Al 2,000
IRIEEPEES 4,000 4,000 0
CEPSEERE 4,000,0002 4,000
| 2,000
Al 2,000
=PNEE IR 80,000 154,000 A74,000
401 Al&HIL 20| 80,000 154,000 A74,000
01 Al&l 80,000 54,000 AT4,000
CEEPSERRE: 50,000,002 50,000
CEPSEERE: 24 2 ZoHel
HoNE 22 30,000, 0002 30,000
St DZ 2N ALY 1,000 1,000 0
301 YBrPAS 1,000 1,000 0
10 BAAHIEAD 1,000 1,000 0
CEmEE PN 1,000,0002 1,000
HadswAL 2E 200,000 0 200,000
401 Al&HIL 20| 200,000 0 200,000
01 Al&H] 200,000 0 200,000
WA DS 2SHME Z2EA Y
200,000,000 200,000
Hadsolel N 11,000 0 11,000
| 5,500
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SN
X XH -
S Tt

ool

- G () - NI AF

CHAR

=2
R
J2H

> i

2,750
2,750

307 2120l &

=N Y

11,000
5,500
2,750
2,750

11,000

mEAE =

S o

10 MaISXIEX

otel XI&

11,000, 000&

= MmN X

11,000

11,000
5,500
2,750
2,750

11,000

0
b
i
0
ol
Iy
[0
08

= mn X

37,000
18,500
9,250
9,250

37,000

307 2120l A

= mn X

37,000
18,500
9,250
9,250

37,000

37,000,000&

>

37,000

37,000
18,500
9,250
9,250

37,000

= M

11,500

3,520
7,980

11,500

301 et A=

= H

11,500

3,520
7,980

11,500

8,400,000&

> i

3,100,000&

= M

11,500

8,400
2,520
5,880
3,100

1,000
2,100

11,500

= H

20,330,292
9,165,526
4,093,270
7,071,496

16,210,582

4,119,710

i
10
x
=
I>
=
e
Jo
O

= N W

20,330,292
9,165,526
4,093,270
7,071,496

16,210,582

4,119,710

H

2,863,800
1,431,900

2,672,236

191,564
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A FRMEX A D
g3 EK0t=X

el BEFAMEIA DB &E (el &)
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
[ 572,760
Al 859, 140
307 QI2H0IA 2,863,800 2,672,236 191,564
= 1,431,900
[ 572,760
Al 859, 140
10 At3IZ2XE X 2,863,800 2,672,236 191,564
mESAE SALAR 212481 (650%)
2,863,800,000& 2,863,800
= 1,431,900
[ 572,760
Al 859, 140
YRR 14,120, 162 10,977,872 3,142,290
= 7,060,081
[ 2,824,032
Al 4,236,049
307 QI2H0IA 14,120, 162 10,977,872 3,142,290
= 7,060,081
[ 2,824,032
Al 4,236,049
05 DI2tQIEr2 14,120, 162 10,977,872 3,142,290
mIR0t E=2 X2(6,618Y)
14,120, 162,000 14,120, 162
= 7,060,081
[ 2,824,032
Al 4,236,049
ESAE SZH 35,000 35,000 0
= 17,500
[ 7,000
Al 10,500
307 QI2H0IA 35,000 35,000 0
= 17,500
[ 7,000
Al 10,500
10 AEI=XEX 35,000 35,000 0
mMESAIE SHMA (ML, HES)
35,000,000& 35,000
= 17,500
[ 7,000
Al 10,500
ESANLEE 726,000 726,000 0
= 277,857
[ 111,143
Al 337,000
307 QIZHOIA 80,000 80,000 0
= 40,000
[ 16,000
Al 24,000
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SN EOIMB A D
B R0

el EFAHIA DI

K

o
Off
m
40
_>||_|
10

SN B SRA(EH) - MBEASY -

e

[
2

=2
R
J2H

80,000,000&

=z HnH

80,000

80,000
40,000
16,000
24,000

80,000

401 AIEHIZ 208

=z HnH

646,000
237,857

95,143
313,000

646,000

01 Al£Hl

02 Zeldl

ms0HE ESAE AF(1HL)

636,000,000&

msSHE E2FAl

= H W

10,000, 000&

636,000

636,000

237,857
95,143
303,000

10,000
10,000

646,000

A 10,000

10,000

= HnH

6,960
3,480
1,392
2,088

7,860

A 900

307 2120l &

=z HnH

6,960
3,480
1,392
2,088

7,860

A 900

B H
OBt

AR 210K (1209)

6,960, 000&

= Hn W

6,960

6,960
3,480
1,392
2,088

7,860

A 900

w1

= HnH

66,200
33,100
13,240
19,860

66,200

307 2120l &

=z HnH

66,200
33,100
13,240
19,860

66,200

WP (7000 &)

66,200,000&

= HnH

66,200

66,200
33,100
13,240
19,860

66,200

Pl
o
A0
02
=

SRR

76,800

38,400
15,360

76,800
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SN FEOIMEX D
Hal: YR0I=EK|

Sl BEMEIA Ol &E (e @8

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

Al 23,040

307 2120l & 76,800 76,800 0

38,400
15,360
23,040

= HnH

EN 76,800 76,800 0
Bl (4000 4 ) 76,800,000& 76,800

38,400
15,360
23,040

= Hn W

AM&E0I0IEB0ts2EX& 606,416 418,800 187,616
303,208
121,283
181,925

= HnH

301 et ez 606,416 418,800 187,616
303,208
121,283
181,925

= H W

01 MaI2EH 63 606,416 418,800 187,616
WAIZ0/0IE Ol 22 XA (210%)
606,416,000& 606,416

303,208
121,283
181,925

=z HnH

QAEFAE S H I 25,000 16,200 8,800

10,000
15,000

= H

307 2120l & 25,000 16,200 8,800

10,000
15,000

= H

E 25,000 16,200 8,800
AE 2 AZHI (10000 2)
25,000,000 25,000

10,000
15,000

= H

EFWAMMRIMEH 489,600 290,160 199,440

151,920
337,680

=z H

307 GI12t0ld 489,600 290,160 199,440

151,920
337,680

=

NS 489,600 290, 160 199,440
mMES DAL MLIHLHI(780%) 489,600,000 489,600

151,920
337,680

=

SESANEEANZR2EY 136,000 91,600 44,400
68,000

H
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SN FEOIMEX D
Hal: YR0I=EK|

ol BESAHUA DB &S (ctel: &
_ _ _ N E
SA-E . S(E) - MEAY - BES 0l & o G SImE=ET
Al 68,000
307 QI12t0I & 136,000 91,600 44,400
& 68,000
Al 68,000
10 At2ISXEX 136,000 91,600 44,400
mESAIE SAK 2R22Z(1,0008)
100,000, 000& 100,000
= 50,000
Al 50,000
mEHESAIE SAX S+42(33Y)
36,000,000& 36,000
& 18,000
Al 18,000
KoL 01 B2 XA 885,456 566,810 318,646
= 177,091
Al 708,365
307 QI2t0IA 885,456 566,810 318,646
L= 177,091
Al 708,365
05 BIZtRE = 885,456 566,810 318,646
WA O Ol = (2F3AMI~CI5NI) RAEEE
885,456,000& 885,456
= 177,091
Al 708,365
ESAEAMES XA 28,098 24,984 3,114
= 14,049
Al 14,049
307 GI12t0I A 28,098 24,984 3,114
& 14,049
Al 14,049
06 283 28,098 24,984 3,114
mESAL HMEE X 28,098,000& 28,098
= 14,049
Al 14,049
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